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13

14
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1651503

16515(C =

1651503

16515( =

1651503

16515( =

1651503

16515C =

1651503

16515C =

1651503

16515(C =

1651503

16515( =

1651503

16515( =

1651503

16515C =

1651503

16515( =

-1651503

-1651502

-1651501

-1651500

-1651499

-1651498

-1651497

-1651496

-1651495

-1651494

-1651493

-1651492

-1651491

-1651490

-1651489

-1651488

-1651487

-1651486

-1651485

-1651484
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31
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37
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40

41

42

1651503

16515C =

1651503

16515C =

1651503

16515(C =

1651503

16515(C =

1651503

16515(C =

1651503

16515C =

1651503

16515(C =

1651503

16515(C =

1651503

16515(C =

1651503

16515C =

1651503
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1651503

-1651483

-1651482

-1651481

-1651480

-1651479

-1651478
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-1651473

-1651472

-1651471

-1651470
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-1651466
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-1651464

-1651463

-1651462

-1651461
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44

45

46

47

48

49

50

16515C = -1651460

1651503 -1651459

16515C = -1651458

1651503 -1651457

16515C = -1651456

1651503 -1651455

16515C = -1651454

1651503 -1651453
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